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Two Types of years

Tl B I FH

Ordinary year = 365 Days
= 52 weeks + 1 day Extra
[T 9 = 365 fa = 52 "wE +
1 erfaftam &=

Leap Year = 366 Days
weeks + 2 days Extra
i ad = 366 & = 52 H@E + 2
srfaftaa a7

Distinction (to know) of leap
vear= An year which 1s di-
visible by 4 completely is
called Leap Year otherwise
called simple year.

g 79 F TR = q@ 9 S gof
w9 ¥ 44 foufsd @@ 21 ofig ad
FECE &1 AN WA T FHEcl ¢l
But in case of century year.
We divide that year by 400, if
divided completely will called
Leap Year otherwise called
Simple Year.

W VA 9 % ey § eH 39 a9
1 400 ¥ famfs w4 & IR 7@
400 ¥ yoigan fasfsa & ?ﬁuﬁﬁ
FAN A T FEAT Tl o s
In 1323, 1726, 1186‘? 19‘43
1784, 2012 ¢/

Find which is keapYear and
which is Og@ﬁfié}_"‘y"Year?

# F | aﬂr"ﬁ? FA | FAE
EL] %I "g" < o

1323 = Not divisible by 4
hence = Ordinary year

1323 = 4 ¥ fawfsm & 21 @m:
[HRT 7Y

1726 = Not divisible by 4
hence — Ordinary Year

1726 = 4 ¥ faafsm =& 21 om:
EE a

1186 = Not divisible by 4

= 52

Ex.

#
%,

hence = Ordinary Year
1186 = 4 @ fawfsm =& #1 sm:
EROT T

1943 = Not divisible by 4
hence = Ordinary Year

1943 = 4 9 fawfsa & 21 @m:
YR Ty

1784 = Divisible by 4 hence
—Leap Year

1784 = 49 fawifom & sra: ofiw =
2012 = divisible by 4 hence
—Leap Year

hence = Ordinary Year
1900 = 400 & fawe & £
Ad:= YR TH
2000 = divilsible

hence = Leap Yaer

2000 = 40Qsﬁfﬁﬂaﬁ T 2

Ad: :>Waa “’
2100= Rb¢ divisible by 400
he’nct;;é‘,» Ordinary vear

by 400

""" \2190”:,»400u faeara &Y &1 w1 €

;"3

2012 = 43 fafem & oa: aﬁnm#

Century Year Case / )
v 76 & ww i, -f“«-«*"'
In 1700, 1200, «t‘ioa 9900,
2000. 2100 Fln:(L-Wthh 1s
Leap Year ?ﬁ& ‘which is ordi-
nary Yea,lt'-’ \‘_;\..,,a?‘

1700, f20§}" 500, 1900, 2000.
21&9’0:},% 1 &t = R FE W

_,mm ELR Y

. \All are century years hence
('we check these years divid-

ing by 400

weft vt @ ¥ e@: 79 400 ®
faifer 3 wa H4 & wEA-a a9
=1 2l

1700 = Not divisible by 400
hence = Ordinary Year
1700= 400 ® fausa ==l 2|
A= WHwE g
1200 = divisible
hence= Leap Year
1200 = 400 ¥ fawad 1 3%:= Y
=t

500 = Not divisible by 400
hence = Ordinary Year

500= 400 & faws 7 2

A= WY

1900 = Not divisible by 400

by 400

Ex.

Sol.
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fﬁmmaﬁ

“"”"Extra Days/Odd days:- Most

of questions from this topic
depends on Extra days

sAfafiem &= fauw fa=:- =@ a=m
% aifsay W sfafm i @ amnfa
T Bl

Methods to Find Extra days:-

v afafea foll @ smanfa g 21
(a) Extra days in days

days 38
_?,y = Remaining days are
Extra days

[a]arﬁﬁiaﬁ——r%=‘imﬁré§a

sfafea f 2 2

Find Extra days in 77 days, 12
days, 67 days, 41 days, 39
days, 26 days

77 f&1, 12 &7, 67 &7, 41 f9, 39
fam @i 26 fag § F sifafiaa &
T T w

T
In 77 days = 7 = O(Remainder)

77T d= ——O(ﬁm)

hence 0 is Extra day
ad: 0 sfafem &

12
In 12 days = = = 5 (Remainder)
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12 feAi o = %=5(ﬂm)

hence 5 is E.D (E,D — Extra
Days)

ar: 5 it fam 21
67
In 67 days = 7 =4 (Remainder)

57

67 fgg & = =4 (¥9%e)

7
hence 4 1s E.D

41
In 41 days = - = 6 (Remainder)

41??15!———6(31%)

hence 6 i1s E.D

|: 6 sAfafa fa
Similarly,

T -

In 39 days = 4 E.D

39 fal # = 4 stfafm fim
In 26 days = 5 E.D

26 fi § = 5 sfafa fa

Here we found that the Extra
days always comes O to 6.

@&l ¥H uw & o arfafem Rt =t
& FHT O 3 6 F W= A 21
(b) Extra days in months —

A o afafem v =
Months are of Four types
TEH W1 YR & Ed 2 A{ﬁ\\ D)
(i) 28 days =0 E.D

28 fx1 = 0 wifafe ﬁr(‘} -
(i) 29 days = 1 E. D’f

29 fa = ﬁ’f

L

(i11) 30 days*= E
30 f;a?rz?ﬁﬁaa
(iv) 31 das’?s =3 E.D
31 57 = 3 sAfafma foa
(c) Extra days in Years—
oot # stfafiem A=
0Odd days in a Ordinary Year
=1
wene 9§ fawm =1
Odd days in a Leap Year = 2
o ad F faum faq =2
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Formula =

year + no. of Leap Year in these Year
7

_ wd « i A e a # e
= 7

=Remainder /3Tt
Where, Leap Year/w®l, =9 =

No. of year )
=—— F(Quotient)
4
_ ol @ e _
= ()

Find Odd days in 10 years
10 =t # foun femi it e 3@ +

1
Leap years = — = 2 (Remain-

4
der)

Fﬂﬂa‘ﬁf=% =2 (HFTFS)

£ oy
+2 o 0y
odd days = e =Remf£a~ udl
7 o
%
ﬁ"§ ":‘J
T+ 2 N )
faum feg = = 5 )

_10+2 15{"*

\;7{
= L,%;vn@gwmmder]/ (groFet)
Ex VF&U d daysin 46, 99, 53, 76,
~ ;83 years respectwely')
Egﬁg"’”m 46, 99, 53, 76, 83 6

fam foAf 1 wem 3 F#:12
— In 46 years/=d

46
No. of Leap Years = Rl 11

(Quotient)

g et = e = 20 =11 (9TFe)

4
46+11 BT
odd days = Z = - =1
(Remainder)
46+11 57
fo fam = 1 (3rFer)
a2
= In 99 years,
= 99 7uf #
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99
No. of Leap Years = 'y

g =6 = e =97r9

= 24 (Quotient)/ (9 TH)
99+24 123
i 7
99 +24 123
auq faT = S

= 4 (Remainder)(¥9%a)
= In 53 year

odd days =

= 53 El'lﬁa H,
No. of \’;ar's = — =13
[@mlt}@nt]
O 53
gt 7 wem= - = 13 ()
53+13 66
odd days = = = = =3
(Remainder)
53+13 66
FE RS
=In 75 years,
= 75 =
76
No. of Leap Years = X = 19
(Quotient)

a”haﬂ‘iaﬁm=?= 19 (49rTFa)

76+19
7

odd days/fam fa =

95
= = =4(Remainder)/ (319F)
= In 83 Years
= 83 =9,
No. of Leap Years/wi7 94l =1 &
83 ;
== 20 (Quotient)/( 9THe)
83+20
odd days/fawm fg7 = J—;

103
= ——S[Remamdet] | (¥ )

Thus, in 46, 99, 53, 76, 83
Years 1, 4, 3, 4, 5 Extra days
Respectively

Esos
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Note:

m |

a

ufrome @=®wy, 46, 99, 53, 76,
83 3ui” # wAyl sfafiza feT
1, 4, 3, 4, 5 ?

If result of odd days comes
more than 7 then we will
again divide these days by 7
and Remainder would be ‘Odd
days’

afe faun fef =it @& 7 9 ==
mE M EmwmRAR T 7R
Taariaa w9 i fet = 9w w=em
Tt g faum fam g

0dd days in 100 years

100 ==t 7 faum fa=

99 years + 100th year (Ordi-
nary Result)

99 = + 1007 =6 (Femer =4)
4 days + 1 day = 5 days Extra
4 73+ 1 39 = 5 g7 aifafem
0dd days in 200 years

200 =t # faum fam

In 100 Years =

)

In 200 Years =

5 days

)

10 days

100 961 § = 5f&A
)2 )
200 Tt § = 5f&F

But 10 days can never be odd
days, hence we will divide 1t
by 7 again and remainder

would be odd days

]

0Odd days in 400 years —
400 =t ® faun foi =t den =

300 Years + 99 Years + 400" year (Leap Year)

|

1

! |

o4 + 2 =7
But 7 can not be odd days,

1200+100+22
> &
0 + 5+ 5 =10 days

In 22 year, 22 3§ H

Leap years — = 5 (Quotient)
7 4
hence = - =0 odd day
g GILCL 22, = 5 (49nTEA)
wiq 7 fawm fo7 7@ @ wwa 71 e 4
7 22+5
7 = 0 fauym == Odd day= 7+ =6 (Remainder)
.
Initial 400 Years calender 5%%5
used in next 400 to 800 years IERERER] j} —= = 6 (YIHaA)
and repeated again and again By '}»\_\?f
in every 400 years - {} r
i Nt _ 10
S 400 39 1 FeAE A 400 10 Cﬁ?}wt be odd days = —-
800 =6 # AR B SR weE 400 o\
. \ 10
i H A-sR FE g &Aoﬁwﬁﬂﬁrﬁ%‘lm=7
= As in 400 year ED =0 f,e
=400 o ¥ affm fR=Qy ) O Remainder
Note:- Every multLple of 40 g};‘ew =3 (Yuwe)
odd days = 4 Ex, 0Odd days in 1745 years
e uﬁm400%ﬁrﬁ'=r "-_t'a) 1745 =t # fow foif 1 @
Now we can find ‘qﬂd)‘éays in 1600+100+45
any no. of _yféga 1 l l
mmmaﬁaﬂnﬁwﬁmﬁ 0 +5+0 =5
wen a{ Ty & NOW TYPE-I
Ex. Oﬂﬁha@js in 1700 Years = To find the day of the week on a par-
,»T?r{)ﬁiaq? 3 frem BT — ticular date when no preference day 1s
,.k\w given:

C f""*1600 +100

g 10 f Fe faom e  pRe, )
Ex.

Fd: T8 g 79 fawfea fwm
ﬁna&ﬁmmaﬁwﬁq%ﬁ.

S

- = 3 (Remaifids ) (ST
"y N ,.f

0dd days in 3‘96 years —

3uoa—u¥§,§gg¢ﬁq’rﬁm =

200 Years + 90 Yeafg' + 300" year (Ordinary Year)

310!

|

3
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| |

+ 4 + 1 = 8

But 8 can not be odd days,
hence

W 8 fam f&7 72 &1 wwar

8
7 =1 odd days/fausH feq

Ex.

0 + 5 =5days
Odd days in 2100 Years
2100 =t # fauwm fam

2000+100

0 + 5 =5 days
Odd days in 1900 years
1900 =i % faum &=
1600+300

0 + 1 =ldays

Odd days in 1322 years
1322 g6t § faug fgq
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e e i W, 9w & & R SE w1 w"
HE T =l 5T T ol ™
When we count no. of odd days on

the given particular date. Then we
write

& ™ v fifrea Tia W en o = e
o F ¢ TR B4 forE &1

Sunday for = Ooddday
faem + fod = O fagwm f&g=
Monday for = 1oddday
grEr & ford = 1 fam A
Tuesday for = 2 odd days
wWeER & fed = 2 fawm f@m
Wednesday = 3 odd days
TR % fod = 3 fam A
Thursday = 4 odd days
Feufeam & fad = 4 fawm f=
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Friday = S5odddays
YRR & ferd = 5w A
Saturday — 6odddays
wifaw & fed = 6 fawm fg=

Ex.1 What was the day of week on

Sol.

info@spardha.guru

14th June, 1993?

14 57 1993 #1 Ul I HHA-9 &
w2

(a) Tuesday /HTeE

(b) Wednesday /9491

(c) Monday /H¥aR

(d) Sunday /*fe@m

(c) Odd days in 1992 years =
1992 =di & fauw f&f =t wea=

1600 +300 +92

L

0 +1+ 3 =4

We take 1992 years. Because
1993rd was running than,

& 1992 =6t =t & @9 @, Fiw

1993 = ad = 7 2

In 92 years = 92 years + 23

Leap vear

92 Fuf §=92 7 + 23 e
115

= ——S[Remmrldel]{(ﬁm)

0dd days in Months/#&H faum

Jan Feb March April May

Lo

3 0 3 2 3 =11,

1993rd was a ordinary yeﬁi" \ -

Hence its February would]
o _J

of 28 days = B
1993 TF FHRY aﬁ{g sa: i
et 28 ot F A

0Odd days i da E;?‘ =5

ﬁ’ﬁﬂ@% :3»

In June d4 days completed

qfrﬁ14ﬁ=|10%|=%=o

Total odd days =4 +11 +0= 15

Fo M =4+ 11+0=15

15 days can not be odd days,
15

then = = = 1

Ex.2

Sol.

™

P i o
\af’,{”

ISWﬁqﬂﬁ@W%l=% =1

On this particular date 14
June 1993 we count only one
day Extra =

1457 1993 #1 380 T it A&
For 1 day Extra = Monday
uw Afafaa fg7 = &8 = d9mEr

What was the day of week on
13th Apnl 17237

13 3@ 1723 #1 Wa® F1 $H 5
T wEm?

(a) Monday/ dr@Em

(b) Tuesday/¥T&ER

(c) Wednesday /qHar

(d) Thursday/ggwafaar

Write completed years,

months days till 13th April "

these days

13 aria 1723 9% et auf
ol fad o) ﬁ'rﬁ |

S| 7 .‘ ';a\

Year Year Year Month (of 17 2'3‘ “ﬂ’ajffuf April

*‘?"“

!
16{)01.0022.1

Ir{’é’é’:ﬁear Leap Year =
(N \J
‘=5 (Quotient]

22 94 ¥ iy Td= %?=5(%111Tq1—c|)

Then odd days/@, fam f

22+5 27
S
= 6 (Remainder)/( «TT®e)
Total odd days/%e fawm f5A
=0+5+6+3+0+3+6=23
23 days can never be odd

days, so we divide 23 by 7 and
remainder would be odd days?

23 f&q =+t fawm fm = & safed
B 23 ®1 79 faafom & 21 R S
YoFe == =% faem &= E

23 days

—— =2(Remainder) / (T

Ex.3

For 2 odd days = Tuesday
2 fau fa7 & fad = derar

TYPE-II
When the day of week 1s asked
on a particular date. And ref-
erence day is given
5o uF fAvea fE w gww = 5=
W T R 3EE gt fE R
™,
If the third day of month is
Monday. Which of the
following will be the 29th day
of week? by
afe W &1 e SEEr 21 29
T gm'% mﬁ‘ﬁ o fga g2
(a) Frl%jw
By UArdayfm

o™ \(cq tnday /¥faar

e ﬁl] Monday /@Ham
1723. And find odd days 1ﬂf»801

o

Ex.4

Ex.5
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(b) 3rd = Monday
The,/d™
34 +7 =10" = Monday
T+ 7 = 1091 > ¥ER
10® + 7= 17* = Monday
10s+ 7 = 1741 = HmEn
17% + 7 = 24" Monday
1741+ 7 = 249 Hmar
24% + 5 = 29th
249+ 5 = 2991

4
Monday + 5 = Saturday
Hman + 5 = vfqar
If the 26® day of month is Fri-

day. Which of the following
will be the 5% day of week?

Ifs TEH w1 26 91 &7 GHan Fi uga
£ @ "o w1 5o G, fee
727

26th—7=19 -7 = 12— 7= 5th
If Friday on 26% day, then Also
Friday on 5% day

afg 26 ° a7 AR #1 F oAl 5 A
e ¥l yiher 1 € e

23rd March of a general year
was Tuesday. Then what was
the day of the week on 17 July
of this year?

TF HHRT =6 | 23 W H AieEn
g, @ g T4 17 JaE H1 gwe H;
&F W A gm?

5311
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Sol.

Ex.6

Sol.

3125
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(a) Friday /iR
(b) Sunday/¥fFaR
(c) Saturday/wfHaER

(d) Thursday/FeFafdar

(d) 28rd March = Tuesday
23 TH = HIEER

Left days in March =31-23 =8

o weH % I

April =30

May =31

June = 30
Till 17th July = 17
17 9o 7% = 17
Total = 116
El =116

116
Odddaysin116= = =4 (Re-
mainder)
116

116 F famm fgr= —— = 4 (3Fa)

= Add these odd days in the
day of 23rd March
=237 & 7 & Wy = & =t
SEd W WeER + 4 = giEr
Tuesday + 4 = Saturday

9th June of a Leap Year was
on Thursday. Then what was
the day of week on 17 Febru-
ary.

TF &9 a4 # 9 S wefar q91, @

17 & |1 9de # FA-9 &7 2m

(a) Wednesday/9qHarT

(b) Monday,/HHaR i ,f

(c) Thumday,’ﬁ%‘&lﬁﬁﬁwf ™ .""

(d) Tucsday{"q SE 1LV

= 29 - :
[Beca{fsé Y is a leap year)
(it =E e & 21)

March = 31

April = 30

May = 31

June = 9

Total = 113 Days
0Odd days in 113 days = %

= 1 (Remainder)

ﬁﬁinﬁmﬁq-ﬁ =1 (9mhet)

Because the day of June is
given and day of February is
asked. Hence we go back no.
of odd days.

it W 1 A fem o 21 oen
el = e 9@ T 2 SR el
& =1 T 21 o: 7 O o 71 famm

= f@ @ 3 &
If date is same, month is same
and we cross a L.Y (29th Feb-
ruary). Then we forward 2 days.
afg fovien, e woe 21 ot Tm T
ot ad (et 29 fa) wr @y
dt 79 2 fe7 omh 57 W 2
Ex.7.If 15th of February 1789 is

friday what will be the day of
15th of february 17907?

fedl =t wen 7R 15 wEd 1789 # q@er & A
9th June = Thursday - 1 = 15 et 1790 %1 F-1 f&d gm?
Wednesda
o y i & (a) Monday /4
Note: (i) First day and the last day () S&tw"é 2
of Every General year are (c) Tuegda\yf'nﬂaaﬂ
same (@ Wednecsday,fﬁ‘m
m""’““" “ﬁ“‘g‘ﬁq'“' “‘fa"‘m“*%" fa So},% (b), 15th Feb, 1789 Friday
afm fa= game | ;
(ii) Last day of a Leap Year é L1989 N
precedes one day to thef “15th Feb, 1790 = ?
first day of that year i,ﬂ j’:} 15 ¥LEd 1790 = ?
Qﬂ??ﬁqaﬁwmﬁq date same = 15
* T fm @ ‘1'"5 ﬁ‘f ¥ur feqid = 15
2 3{”} Month same = February
In G.Y. In LY. wwsj o
IS ) :> T
BT, ST qé &fé q We corss
1 Jan =Alohday ~ G.Y. (28th Feb. of 1789)
! "ﬁ:’“i” T @ §= WA 79 (28 W 1789)
Then/wd{ )

fgwl\ﬁzecembcr:;- Monday
,«’;& ﬁﬁw = THaR
7

.___\'In leap vear

1 Jan = Monday
1 §aft = HWER
Then/w4,
31 Dec.= Tuesday
1 Jan of next
wa, 31 feumEy = grean
vear = Tuesday 1 Jan of next
T Fd, 1 Sald H = FeEr
year= Wednesday
TR 99, 1 Tl F = TR
Result/gfiomg

1. If date is same, month is same,
and we cross a G.Y (28th Feb-
ruary). Then we forward 1 day.

gfz fadies, wE wom 21 3l =
|rewoT T (wEd 28 &) g gy
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Hence we forward 1 day
Friday + 1 = Saturday
HFAl + 1 = ¥fHER

The Republic day in 1996 was
celebrated on Wednesday. On
what day was it celebrated in
the year 1997°?

T4 1996 # o= feEm guER
A T A A 1997 # @ R A
A Y

(a) Thursday/ggeafeam

(b) Friday/yar

(c) Saturday/¥fER

(d) Sunday/fFar

Ex.8

Sol. (b) date same = 26
¥ fTs = 26
Month same = January
THA WEA = S

We Cross

=1 LY. (29th Feb of 1996)
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&9 gEd @
= dfq g (29 wEd 1996)
Hence we forward 2 days

Iq: w9 2 e o T g
Wednesday + 2 days — Friday

O Table for birthday, anniversary,
Republic,
celebrated on same day=
R Y SH 6 dfas =

Independence

|Leap Year

LY+1)3r|LY+2)3r  |LY 357

Till 287
Feb.

TER + 2 7 = yFen

add 5 year |add 6yearjsdd 6 year |add 11 year

Note: (i) Next year calender after

any Leap Year can be used [

Afterae’|

sdd 11 yaar |add 5 year

after 6 year:

foredt &g ad % s g oAt W@
Fevet 6 U AR WA fEE S
Tl T

(ii) 2nd and 3rd year calendar after
any leap year can be used after
11 year.

forelt oft o o A g iR et o W
Fewer 11 &9 ar w1 fF =1 g 2

1960 —=Leap Year Sol.

next vear
1961 Calender ——=1967
+6

_~»Leap year
) 2nd Year after 1960

1962 —= 1973
+11

1960

_~»Leap year
) 3rd Year after 1960

1963 —= 1974
+11

1960

For Example /320 & 3

Ex.9 Calender of 1991 could be
used again? . :‘}
a9 1991 @1 Helve @R EEN }
e =1 wFar 22

(2)1990 (b) 1992

() 1997 /&dﬁé

(d) ,1988

( ;ﬂ vea} after 1988
\;m? 2002

Ex.10. Calen ar of 1985 could be

used again?

9 1985 =1 Fevet SE FHe TEA

wf,f

o ,,!’

Sol.

Sol.

¥ emEm?

(a) 1990 (b) 1991

(c) 1996 (d) 1992
Sol. (b) 1984

> next year

19857+6 = 1991

info@spardha.guru

Ex.11. Rohit birth day was on 16

January 1991 on Monday.
When would he celebrated his
birth day again on monday

dfed #1 S=ifgd 16 et 1991 4
HAER B oon, 9% e 9 A SEmr
TER w9 s fET mEEam?

(a) 1997 (b) 1999

(c) 2001 (d) 2002

(d) 1988 is a Leap Year

1988 & v 7 2 ﬂfé
1991 = (1988 + 3) Year m,!eni
Hence according to tabl (iy’tl
11 year in 1991 for hi {lj.t}e;xt

birth day A..

s aﬂwaﬁﬂaﬂﬂﬁ S
+ fod =4 199 ql‘l«maﬁ?%n
1991 + 11 2&;}2

Ex.12. Inde ndﬁrfce day in 1984

was_celebrated on Tuesday. In
ch/ year was it celebrated

fon\séme day?
‘ﬁﬁ‘ 1984 ¥ @l a9 HqeEr w)

T S 2 Al R o § SE 7w
zE foeq X mEE SEm?

(a) 1990 (b) 1991

(c) 1992 (d) 1993

(a) 1984 1s a leap year

1984 T oiq = 2|

Hence according to table add
6 year in 1984 for same day
on Independence day

31: @iferst & S3ar ad 1984 # 34t
for % ford 6 ad < 24

= 1984 + 6 = 1990

Ex.13. How many Leap years in 400

yvear?

400 =€ ¥ oy T F1 we 7| F:17
or/

How much times 29 Feb

Copyright © All Rights Reserved | https://spardha.guru/

Sol.

comes in 400 year?

400 99 | 29 wIEdt foRat = @ ?
(a) 97 (b) 99
(c) 100 (d) 102

(a) From 1 to 100 years Leap
Years are = 24

19 100 34t % iy = € = 24
4% g5 1%
But 100" is not a Leap Year
T 100 UF @i =4 &l ¥
Similarly from 101 to 200
year = 24

wit SR 101 9,20 200 7% = 24
From 2 iﬁﬁ vear = 24
2019 0% 24

But 2301 to 400 year = 25

uf_ﬁ 3};1% 400 @ = 25
©“Beoause 400th is a Leap Year
%ﬁ% 400 & w# iy 79 &

Total/=F1=24 +24 + 24 + 25 =97
Last days of centuiry years may be
vt o @ eifm faw Em

Only = Monday, Wednesday, Fri-
day, Sunday

Hae = HFER, q9EN, JFAN, TR,
Because/#iTH

In 100 year odd days = 5 (Friday)
100 =¢ & faum fx7 = 5 (ypam)

[n 200 vear odd days = 3 (Wednesday)
200 79 # foyn &G = 3 (guEm)

In 300 year odd days = 1 (Monday)
300 =4 w9 famq feg = 1 (HwEm)

In 400 year odd days = 0 (Sunday)
400 74 o faum fz7 = 0 AR

Months of a L.Y which have same
day on lst day.

TF @ 99 % wer 59 W e T W
UM 7 B 2

= Jan, October
Feb, March, Nov.

=

A

5313
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